
23.02.20201 – ANSWERS Subtract Fractions Y4 Challenge Sheet 

Use this sheet WHEN you’ve completed the main worksheet and want a challenge. Remember to use your blue book 

if you have it to show your workings.  
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The first sentence matches with the second 

calculation. 

The second sentence matches with the third 

calculation. 

The third sentences matches with the first 

calculation.  

 

Lisa is incorrect. She is incorrect because her shaded 

parts are 
7

8
 and she only had 

6

8
 to start. 

Mo is correct. They have found the difference 

between 
6

8
 and 

4

8
 

A is correct. It shows 
10

10
 - 

8

10
  which equals 

2

10
 

 

B is incorrect. It shows a find the difference model of 
6

10
 - 

2

10
 which equals 

4

10
 

 

C is correct. 


